Guess Paper – 2009
Class – XII
Subject – Mathematics
Time: 3 Hours




                          Max. Marks: 100

                  [*** refers  : Higher Order Thinking Skills]
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SECTION


1. If  
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 is a binary operation on R defined by a 
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 b =   a/4  +    b/7  for  a, b 
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 R, find   the  value of  ( 2 
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2. If the side of the square is increased from 6 to 6.1 cm,  find approximate change in its area.

3. Find the area of a parallelogram whose  diagonals are  i + j and i - j 

4. If x=[image: image8.png]
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show that [image: image12.png]ol fory
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                                                        OR                                                                                                                                          If 
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5. Determine the order and degree of the differential equation   
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6. Express 
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8. 
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9. 
[image: image21.wmf]ò

dx

x

3

sin

x

5

sin

x

2

sin


10. 
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SECTION –B

11.    
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OR
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12. If 
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If 
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. Prove that 
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13. 
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14. 
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15. 
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16. Evaluate  
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17. 
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18. 
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19. Find the probability distribution of number of doublets in three throws            of a pair of  dice .(OR) 

          A man is known to speak truth 4 out of 5 times .He throws a pair of dice and reports that it is a doublet, Find the probability that it is actually a doublet.

  ALL THE BEST- FROM –AJAY KAKKAR-9811400749

20. Solve the following differential equation: 
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      Form the differential equation by eliminating a and b from the equation   
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21. Using lagrange's mean value theorem, prove that 
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SECTION-C

22. If If 
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23. Find the area of smaller region bounded by the ellipse 
[image: image48.wmf]22

1

169

xy

+=

 and the straight line  
[image: image49.wmf]1

43

xy

+=

OR 

Using integration, compute the area bounded by the lines x+2y=2, y-x=1 and 2x+y=7.

24. Show that the right circular cone of least curved surface and given volume has an altitude equal to √2 time the radius of the base.
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(OR)

      A wire of length 28m is to be cut into two pieces.  One of the pieces is to be made into a square and the other into a circle.  What should be the length of the two pieces so that the combined area of the square and the circle is minimum?   

25. The probabilities that a student pass in Mathematics, Physics and Chemistry are m, p and c respectively.  Of these subjects, the student has a 75% chance of passing in at least one, a 50% chance of passing in at least two and a 40% chance of passing in exactly two.  Find the value of p + m + c.         [***]

26. .   Find the equation of the plane passing through the intersection of the planes 2x + y – z = 3 and 5x– 3 y + 4z + 9 = 0 and parallel to the line [image: image52.png]



27. A dietician wishes to mix together two kinds of food X and Y in such a way that the mixture contains at least 10 units of vitamin A, 12 units of vitamin B and 8 units of vitamin C. The Vitamin contents of one Kg food is given below 

	Food
	Vitamin A
	Vitamin B
	Vitamin C

	X
	1
	2
	3

	Y
	2
	2
	1


One Kg of food X costs Rs. 16 and one Kg of food Y costs Rs. 20. Find the least cost of the mixture which will produce the required diet.

28.   Solve the differential equation:  x [image: image54.png]ol fory



 +y=xcosx+sinx   , given y ([image: image56.png]
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